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The figure in the margin indicates Jull mark for the questions.

i Choose the correct answer:
a) T'he product of the expression (54 ‘\.‘rj_j{2+\’r23 is =
) 5V2+2\3+10
i)~ 1045V242\V346
i)  1042V5+3vV24V6

(3Ix1=3)

A7 The sum of the PEsent values (or the principals) of all instalments is equal to -

1)  Interest Amount iii)  Sum borrowed
e) 18% of 500 is
)=S0 iy 90 1ii) 100
2. Express 0.17 as percent. (2)
5 The CP of 25 articles is equal to SP of 20 articles. Find the loss or gan percent.  (3)
4" Give the following values, find the unknown values. : (2x2=4)
8)  CP=Rs. 1200, SP = Rs. 1350, Profit/Loss=? 15°
- - |
b) CP=Rs. 720, SP = ?, Profit=Rs. 55.50 225

David took a match test and got 25 correct and 15 incorrect answer. What was the per-
centage of incorrect answers? (3)

S

A7 Ifyousubstract L. from a number and multiply the result by i you get —1—. What is

the answer ? 2 2 3)
7)  Two number are in the ratio 5:3 If they differ by 18, what are the number? % (3)
8  Simplify and solve the following linear equations : (3x2=6)
8) 3t-3)=50Ct+1) — 2
b)  8x-3
| =2 2. )2
3x 7

A factory requires 42 machines to produce a given number of articles in 63 days. How ,5.;
many machines would be required to produce the same number of articles in 54 days?
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M Athunder-cloud is at a distance of 3.3 km. If the sound of thttnder-cluud follows the flash
after 10 seconds, find the speed at which sound travels, 1) g% | h* (3)

/A can do a piece of work in 2 days. B can do it in 3 days and C in 6 days. W}mmfh i
taken to finish the work if they all work together

137~ Solve the expression 3x+6 in its simplest form
x?-4

e o
/ Maria invested Rs. 8000 in business.She would pmd interest at 5% per annum ¢ oL
annually. Find the amount credited against her name at the end of the secon ar.

.l‘l

15. Acando a piece of work in 15 days. He work for 5 days. Then what lﬂﬁ'i_e_i T cti '-;""
that is left? "
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